Efficiency vs P,

0.02
o
».018
>
£.016
9]
D.014
9]
0.012
0.01
0.008 i ;
0.006F e Beoeeeees e
0.004fF f}----- e Feeeeeeeeen e
0.002

0
1.4

............................................

.......................................

........................................

.......................................

Ratio

........................................

1.2

. Gedf’

1]

=
o
iN
=
=
o

—s=— ../.JCMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_batchCAND-adjusted
—e— ../.ICMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_CAND

—— DQM_V0001_R000000001__Global__mkFit_CAND-AFTERCONFLICT

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015
0.0
0.005

Ratio
(@)

15

-2

|
W T

Efficiency vs ¢

=0.051
<l :
Q.045 ;
2 ]
90-04 ;
o .
).035F
o :

0.03F




	Contents
	Page 1


